
UČBENIK, STRAN 69, NALOGA 4A, 4B, 4C IN 5A  

REŠITVE 

 

NALOGA 4A:  

I – am not/'m not 

He                                                          going to 

She    is not/isn't 

It  

We  

You         are not/aren't 

They  

 

NALOGA 4B:  

1. Ruby is going to read a book this evening. 

2. We are going to play basketball on Wednesday. 

3. I am going to watch the news at 10 o'clock.  

4. Marcus is going to do his homework after dinner.  

5. Laura's parents are going to buy a new TV tomorrow.  

6. It is going to be a boring evening.  

NALOGA 4C:  

1. Ruby isn't going to read a book this evening.  

2. We aren't going to play basketball on Wednesday.  

3. I'm not going to watch the news at 10 o'clock.  

4. Marcus is going to do his homework after dinner.  

5. Laura's parents aren't going to buy a new TV tomorrow. 

6. It isn't going to be a boring evening.  



NALOGA 5A:  

Is she going to watch TV?                                                  Yes, she is.  

Are you going to watch Two and a Half Men?              No, she isn't.  

 


